#w X R =
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MR A A O ) T 2 h 55 1)

(BT :mg/L)

Ay o 2 3 4 5
X HET A 4 mEs mEH mEm mEs INATH
XA A= —FR 206 206 206 206 203
X4 e R S P+ AUBEET = KHET ) 7K H LT &4 IR ET
HX = 1060 0210 0200 0660 0200
HFAES 000500 000300 000100 000200 000200
FH A (m) TBH T8 13 TH N
WA I E Z: e 8 B T
R&X Sy ATERAK — R ER A Z Dfh —f%ax A AFERK
BOKEHH R4.8.4 R4.8.4 R4.8.4 R4.8.4 R4.8.8
FKIE(C) 16.2 19.2 19.2 18.0 20.5
BRURE R (mS/m) 6. 05 9.67 8.96 11.9 9. M
pH 6.1 5.3 6.2 6.1 6.0
FIRIT A < 0.0003 < 0.0003 < 0.0003 < 0.0003 < 0.0003
LT < 0.1 < 0.1 <0.1 < 0.1 < 0.1
#h < 0.005 < 0.005 < 0.005 < 0.005 < 0.005
A A=A < 0.01 < 0.01 < 0.01 < 0.01 < 0.01
=== < 0.005 < 0.005 < 0.005 < 0.005 < 0.005
Tk ER < 0.0005 < 0.0005 < 0.0005 < 0.0005 < 0. 0005
PCB < 0.0005 < 0.0005 < 0.0005 < 0.0005 < 0.0005
A== Y < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
MUk R SR < 0.0002 < 0.0002 < 0.0002 < 0.0002 < 0.0002
JunxTFL < 0.0002 < 0.0002 < 0.0002 < 0.0002 < 0.0002
1,2-Y/max iy < 0.0004 < 0.0004 < 0.0004 < 0.0004 < 0.0004
1,1-Y/anxzFlL < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
1,2-Y7unxFlL s < 0.004 < 0.004 < 0.004 < 0.004 < 0.004
1,1,1-F)7uu=xz < 0.0005 < 0.0005 < 0.0005 < 0.0005 < 0.0005
1,1,2-RN)7mmaxk < 0.0006 < 0.0006 < 0.0006 < 0.0006 < 0.0006
[ P/A=1=t=ts S PNZ < 0.001 < 0.001 < 0.001 < 0.001 < 0.001
VA NZA== = < 0.0005 < 0.0005 < 0.0005 < 0.0005 < 0.0005
1,3-vr7aara~ < 0.0002 < 0.0002 < 0.0002 < 0.0002 < 0.0002
FUT LA < 0.0006 < 0.0006 < 0.0006 < 0.0006 < 0.0006
DA eV < 0.0003 < 0.0003 < 0.0003 < 0.0003 < 0.0003
F AR T < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
AV % < 0.001 < 0.001 < 0.001 < 0.001 < 0.001
L < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
MRS B L N Rt = R 1.1 3.1 0.62 1.2 2.5
TR < 0.08 < 0.08 < 0.08 < 0.08 < 0.08
RNyES <0.1 < 0.1 <0.1 < 0.1 <0.1
L4459 < 0.005 < 0.005 < 0.005 < 0.005 < 0.005
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MR A A () B S H 55 2)

(BT :mg/L)

Ay a s 6 7 8 9 12
X HET A 4 mEs mEH mEm NN mEH
M XE = —R 206 206 206 203 206
X4 KEEF LARET P ERET ENFSHT ZYRIET 15 R HT
HX = 0300 0120 0140 0500 0560
HFAES 000400 000500 000200 000100 000200
F R (m) TBA IBH 19 10 EN: |
EHPF - RHF TBA EHP EHF EHFE Nz
R&X 5y ATERAK —f%Ex A TIEAK ATERAK HETERAK
BOKEHH R4.8.4 R4.8.4 R4.7.12 R4.8.8 R4.8.4
FKIE(C) 19.2 19.0 18.5 16. 2 18.2
BERURE R (mS/m) 10.6 19.8 34.4 11.0 18.7
pH 6.7 6.5 7.0 5.6 5.6
FRIT A < 0.0003 < 0.0003 < 0.0003 < 0.0003 < 0.0003
LT < 0.1 < 0.1 <0.1 < 0.1 < 0.1
#h < 0.005 < 0.005 < 0.005 < 0.005 < 0.005
A A=A < 0.01 < 0.01 < 0.01 < 0.01 < 0.01
=== < 0.005 < 0.005 < 0.005 < 0.005 < 0.005
Fa7K #R < 0.0005 < 0.0005 < 0.0005 < 0.0005 < 0.0005
PCB < 0.0005 < 0.0005 < 0.0005 < 0.0005 < 0.0005
A== Y < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
MUk R SR < 0.0002 < 0.0002 < 0.0002 < 0.0002 < 0.0002
A=1=tasts S AV < 0.0002 < 0.0002 < 0.0002 < 0.0002 < 0.0002
1,2-Y/max iy < 0.0004 < 0.0004 < 0.0004 < 0.0004 < 0.0004
1,1-Y/unxFL < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
1,2-Y7unxFlL s < 0.004 < 0.004 < 0.004 < 0.004 < 0.004
1,1,1-F)7uu=xz < 0.0005 < 0.0005 < 0.0005 < 0.0005 < 0.0005
1,1,2-RN)7mmaxk < 0.0006 < 0.0006 < 0.0006 < 0.0006 < 0.0006
[ P/A=1=t=ts S PNZ < 0.001 < 0.001 < 0.001 < 0.001 < 0.001
VA NZA== = < 0.0005 < 0.0005 < 0.0005 < 0.0005 < 0.0005
1,3-vranra~ < 0.0002 < 0.0002 < 0.0002 < 0.0002 < 0.0002
FUT LA < 0.0006 < 0.0006 < 0.0006 < 0.0006 < 0.0006
DA eV < 0.0003 < 0.0003 < 0.0003 < 0.0003 < 0.0003
FA RN T < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
AV % < 0.001 < 0.001 < 0.001 < 0.001 < 0.001
‘L < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
HEE MR R OV et 2= R 0.25 0.19 < 0.02 0.99 6.2
TR < 0.08 < 0.08 0. 66 < 0.08 < 0.08
RNyES <0.1 < 0.1 0.3 < 0.1 <0.1
L4459 < 0.005 < 0.005 < 0.005 < 0.005 < 0.005
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MR A A () T S H 55 3)

(BT :mg/L)

Ay a s 13 14 16 17 18
X HET A 4 mEs NN NN NN U\ N
M XE = —R 206 203 203 203 203
X4 Se LT FriEHET ] A T = THT R UEHET
HX = 0260 0350 0510 0070 0080
HFAES 000200 002200 001000 000400 000100
F R (m) 5~10 TEH THq TBH 5
EHPF - RHF TBA TBR T~H TBH EHF
R&X 5y ATERAK TBA TBA TBH Z Dt
BOKEHH R4.8.4 R4.8.8 R4.8.8 R4.8.8 R4.8.8
FKIE(C) 18.5 19.5 22.9 17.5 17.2
BERURE R (mS/m) 11.6 10.3 23.5 9.59 13.8
pH 5.8 5.8 1.3 5.2 6.3
FRIT A < 0.0003 < 0.0003 < 0.0003 < 0.0003 < 0.0003
LT < 0.1 < 0.1 <0.1 < 0.1 < 0.1
#h < 0.005 < 0.005 < 0.005 < 0.005 < 0.005
A A=A < 0.01 < 0.01 < 0.01 < 0.01 < 0.01
=== < 0.005 < 0.005 0. 005 < 0.005 < 0.005
Fa7K #R < 0.0005 < 0.0005 < 0.0005 < 0.0005 < 0.0005
PCB < 0.0005 < 0.0005 < 0.0005 < 0.0005 < 0.0005
A== Y < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
MUk R SR < 0.0002 < 0.0002 < 0.0002 < 0.0002 < 0.0002
A=1=tasts S AV < 0.0002 < 0.0002 < 0.0002 < 0.0002 < 0.0002
1,2-Y/max iy < 0.0004 < 0.0004 < 0.0004 < 0.0004 < 0.0004
1,1-Y/unxFL < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
1,2-Y7unxFlL s < 0.004 < 0.004 < 0.004 < 0.004 < 0.004
1,1,1-F)7uu=xz < 0.0005 < 0.0005 < 0.0005 < 0.0005 < 0.0005
1,1,2-RN)7mmaxk < 0.0006 < 0.0006 < 0.0006 < 0.0006 < 0.0006
[ P/A=1=t=ts S PNZ < 0.001 < 0.001 < 0.001 < 0.001 < 0.001
VA NZA== = < 0.0005 < 0.0005 < 0.0005 < 0.0005 < 0.0005
1,3-vranra~ < 0.0002 < 0.0002 < 0.0002 < 0.0002 < 0.0002
FUT LA < 0.0006 < 0.0006 < 0.0006 < 0.0006 < 0.0006
DA eV < 0.0003 < 0.0003 < 0.0003 < 0.0003 < 0.0003
FA RN T < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
AV % < 0.001 < 0.001 < 0.001 < 0.001 < 0.001
‘L < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
HEE MR R OV et 2= R 2.7 3.0 1.7 0.83 1.3
TR < 0.08 < 0.08 < 0.08 < 0.08 0.19
RNyES <0.1 < 0.1 <0.1 < 0.1 < 0.1
L4459 < 0.005 < 0.005 < 0.005 < 0.005 < 0.005
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MR A A () TV 2 h 53 4)

(BT :mg/L)

Ay a s 19 21 22 23 24
X HET A 4 NN CEE Bl EEET =N
M XE = —R 203 211 210 211 210
X4 CEEL IRFHHET E NIk ACET FKHET B ILIET
HX = 0570 0150 1010 0430 1110
HFAES 000100 000200 000200 000100 000600
FHEF VR EE (m) 40 36 50 110 N
EHPF - RHF TBA TBR T~H TBH Nz
R&X 5y ZDih Z Dt — % B A ATERAK HETERAK
BOKEHH R4.9.6 R4.7.7 R4.8.18 R4. 7.7 R4.8.18
FKIE(C) 20.5 17.7 14.5 20.5 12.8
BERURE R (mS/m) 103 16.7 14.4 12.4 10.0
pH 7.1 6.9 1.3 6.3 7.0
FRIT A < 0.0003 < 0.0003 < 0.0003 < 0.0003 < 0.0003
LT < 0.1 < 0.1 <0.1 < 0.1 < 0.1
#h < 0.005 < 0.005 < 0.005 < 0.005 < 0.005
A A=A < 0.01 < 0.01 < 0.01 < 0.01 < 0.01
=== < 0.005 < 0.005 < 0.005 < 0.005 < 0.005
Fa7K #R < 0.0005 < 0.0005 < 0.0005 < 0.0005 < 0.0005
PCB < 0.0005 < 0.0005 < 0.0005 < 0.0005 < 0.0005
A== Y < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
MUk R SR < 0.0002 < 0.0002 < 0.0002 < 0.0002 < 0.0002
A=1=tasts S AV < 0.0002 < 0.0002 < 0.0002 < 0.0002 < 0.0002
1,2-Y/max iy < 0.0004 < 0.0004 < 0.0004 < 0.0004 < 0.0004
1,1-Y/unxFL < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
1,2-Y7unxFlL s < 0.004 < 0.004 < 0.004 < 0.004 < 0.004
1,1,1-F)7uu=xz < 0.0005 < 0.0005 < 0.0005 < 0.0005 < 0.0005
1,1,2-RN)7mmaxk < 0.0006 < 0.0006 < 0.0006 < 0.0006 < 0.0006
[ P/A=1=t=ts S PNZ < 0.001 < 0.001 < 0.001 < 0.001 < 0.001
VA NZA== = < 0.0005 < 0.0005 < 0.0005 < 0.0005 < 0.0005
1,3-vranra~ < 0.0002 < 0.0002 < 0.0002 < 0.0002 < 0.0002
FUT LA < 0.0006 < 0.0006 < 0.0006 < 0.0006 < 0.0006
DA eV < 0.0003 < 0.0003 < 0.0003 < 0.0003 < 0.0003
FA RN T < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
AV % < 0.001 < 0.001 < 0.001 < 0.001 < 0.001
‘L < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
HEE MR R OV et 2= R 0.20 0.69 0.64 1.4 1.0
TR 0.21 < 0.08 < 0.08 < 0.08 < 0.08
ANES 0.4 < 0.1 <0.1 < 0.1 < 0.1
L4459 < 0.005 < 0.005 < 0.005 < 0.005 < 0.005
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MR A A () 1 526 53 5)

(BT :mg/L)

Ay a s 25 26 27 28 29
X HET A 4 CEET CEE =NIGH Bl B
XA A= —FR 211 211 210 210 210
HiX 4 LiEKET =Y OHfr #8 Sk &N=FHET LA EFET R EHET
HX = 0440 0480 1220 0640 0280
HFAES 000200 000100 000100 000100 000400
FHEF VR EE (m) 30 84 9 IR 100
EHPF -EHF THH TBH EHF T8 T
R&X Sy TIXEAK IXEAK — % B A IXEAK TIEAK
BOKEHH R4. 7.7 R4.7.7 R4.8.18 R4.8.29 R4.8.18
FKIE(C) 14.0 15.5 17.8 18.5 17.5
BERURE R (mS/m) 12.4 11.0 16. 1 15.9 25.3
pH 6.8 1.0 6.8 1.5 6.7
FIRIT A < 0.0003 < 0.0003 < 0.0003 < 0.0003 < 0.0003
LTV < 0.1 < 0.1 <0.1 < 0.1 < 0.1
#h < 0.005 < 0.005 < 0.005 < 0.005 < 0.005
A A=A < 0.01 < 0.01 < 0.01 < 0.01 < 0.01
=== < 0.005 < 0.005 < 0.005 < 0.005 < 0.005
Tk ER < 0.0005 < 0.0005 < 0.0005 < 0.0005 < 0. 0005
PCB < 0.0005 < 0.0005 < 0.0005 < 0.0005 < 0.0005
A== Y < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
MUk R SR < 0.0002 < 0.0002 < 0.0002 < 0.0002 < 0.0002
JunxTFL < 0.0002 < 0.0002 < 0.0002 < 0.0002 < 0.0002
1,2-Y/max iy < 0.0004 < 0.0004 < 0.0004 < 0.0004 < 0.0004
1,1-Y/unxFL < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
1,2-Y7unxFlL s < 0.004 < 0.004 < 0.004 < 0.004 < 0.004
1,1,1-F)7uu=xz < 0.0005 < 0.0005 < 0.0005 < 0.0005 < 0.0005
1,1,2-RN)7mmaxk < 0.0006 < 0.0006 < 0.0006 < 0.0006 < 0.0006
[ P/A=1=t=ts S PNZ < 0.001 < 0.001 < 0.001 < 0.001 < 0.001
VA NZA== = < 0.0005 < 0.0005 < 0.0005 < 0.0005 < 0.0005
1,3-vr7aara~ < 0.0002 < 0.0002 < 0.0002 < 0.0002 < 0.0002
FUT LA < 0.0006 < 0.0006 < 0.0006 < 0.0006 < 0.0006
DA eV < 0.0003 < 0.0003 < 0.0003 < 0.0003 < 0.0003
F AR T < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
AV % < 0.001 < 0.001 < 0.001 < 0.001 < 0.001
L < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
MRS B L N Rt = R 0.55 0.29 1.7 1.0 1.6
TR < 0.08 < 0.08 0.08 < 0.08 < 0.08
RNyES <0.1 < 0.1 <0.1 < 0.1 <0.1
L4459 < 0.005 < 0.005 < 0.005 < 0.005 < 0.005
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MR A A () 1 2 6 536)

(BT :mg/L)

Ay a s 31 32 33 37 38
X HET A 4 Bl Bl Bramhh AT PRk BT
XA A= —FR 210 210 212 365 365
Hi1 X A Jb %= B ET ¥& JTURT =Y i) ) S} T KR
HX = 0530 0690 0060 0030 0040
HFAES 000200 000100 000300 001300 000900
FHEF VR EE (m) 30 EN:: 130 FN:]| PN |
EHPF - RHF EHFE TBH TEA TBH Nz
R&X Sy TIXEAK IXEAK —heER A — R ER A — & B A
BOKEHH R4.8.29 R4.8.29 R4.7. 11 R4.7.28 R4.7.28
FKIE(C) 22.0 17.5 15.0 18.3 16. 1
BERURE R (mS/m) 23.7 21.9 16.5 18.5 21.8
pH 6.9 6.8 1.4 1.2 7.0
FIRIT A < 0.0003 < 0.0003 < 0.0003 < 0.0003 < 0.0003
LT < 0.1 < 0.1 <0.1 < 0.1 < 0.1
#h < 0.005 < 0.005 < 0.005 < 0.005 < 0.005
A A=A < 0.01 < 0.01 < 0.01 < 0.01 < 0.01
=== < 0.005 < 0.005 < 0.005 < 0.005 < 0.005
Tk ER < 0.0005 < 0.0005 < 0.0005 < 0.0005 < 0.0005
PCB < 0.0005 < 0.0005 < 0.0005 < 0.0005 < 0.0005
A== Y < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
MUk R SR < 0.0002 < 0.0002 < 0.0002 < 0.0002 < 0.0002
A=1=tasts S AV < 0.0002 < 0.0002 < 0.0002 < 0.0002 < 0.0002
1,2-Y/max iy < 0.0004 < 0.0004 < 0.0004 < 0.0004 < 0.0004
1,1-Y/unxFL < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
1,2-Y7unxFlL s < 0.004 < 0.004 < 0.004 < 0.004 < 0.004
1,1,1-F)7uu=xz < 0.0005 < 0.0005 < 0.0005 < 0.0005 0. 0022
1,1,2-RN)7mmaxk < 0.0006 < 0.0006 < 0.0006 < 0.0006 < 0.0006
[ P/A=1=t=ts S PNZ < 0.001 < 0.001 < 0.001 < 0.001 < 0.001
VA NZA== = < 0.0005 < 0.0005 < 0.0005 < 0.0005 < 0.0005
1,3-vranra~ < 0.0002 < 0.0002 < 0.0002 < 0.0002 < 0.0002
FUT LA < 0.0006 < 0.0006 < 0.0006 < 0.0006 < 0.0006
DA eV < 0.0003 < 0.0003 < 0.0003 < 0.0003 < 0.0003
FA RN T < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
AV % < 0.001 < 0.001 < 0.001 < 0.001 < 0.001
L < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
HEE MR R OV et 2= R 2.3 1.4 0.03 1.5 3.6
TR < 0.08 < 0.08 < 0.08 < 0.08 < 0.08
RNyES <0.1 < 0.1 <0.1 < 0.1 < 0.1
L4459 < 0.005 < 0.005 < 0.005 < 0.005 < 0.005
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MR A A O ) T 20 53 7)

(BT :mg/L)

Ay a s 40 42 43 44 45
X HET A 4 R MRET R ET R BT MESTH MESH
XA A= —FR 361 365 361 209 209
Hi1 X A b = RERA vAN=E:: [E
HX = 0070 0080 0040 0110 0300
HFAES 000500 000600 000400 000200 000200
FHEF VR EE (m) 100 PN 92 FN: ] 5
EHPF -EHF EHFE TBH FHF TBH EHF
R&X Sy ATERAK —f%Ex A HEERAK IXEAK HETERAK
BOKEHH R4.8.4 R4.7.28 R4.8.9 R4.7.14 R4.7.14
FKIE(C) 18.0 15.6 15.5 16. 8 16. 2
BERURE R (mS/m) 17.4 21.3 15.6 20.6 18.7
pH 1.9 1.0 1.3 1.0 1.3
FIRIT A < 0.0003 < 0.0003 < 0.0003 < 0.0003 < 0.0003
LT < 0.1 < 0.1 <0.1 < 0.1 < 0.1
#h < 0.005 < 0.005 < 0.005 < 0.005 < 0.005
A A=A < 0.01 < 0.01 < 0.01 < 0.01 < 0.01
=== 0. 007 < 0.005 < 0.005 < 0.005 < 0.005
Tk ER < 0.0005 < 0.0005 < 0.0005 < 0.0005 < 0.0005
PCB < 0.0005 < 0.0005 < 0.0005 < 0.0005 < 0.0005
A== Y < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
MUk R SR < 0.0002 < 0.0002 < 0.0002 < 0.0002 < 0.0002
A=1=tasts S AV < 0.0002 < 0.0002 < 0.0002 < 0.0002 < 0.0002
1,2-Y/max iy < 0.0004 < 0.0004 < 0.0004 < 0.0004 < 0.0004
1,1-Y/unxFL < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
1,2-Y7unxFlL s < 0.004 < 0.004 < 0.004 < 0.004 < 0.004
1,1,1-F)7uu=xz < 0.0005 < 0.0005 < 0.0005 < 0.0005 < 0.0005
1,1,2-RN)7mmaxk < 0.0006 < 0.0006 < 0.0006 < 0.0006 < 0.0006
[ P/A=1=t=ts S PNZ < 0.001 < 0.001 < 0.001 < 0.001 < 0.001
VA NZA== = < 0.0005 < 0.0005 < 0.0005 < 0.0005 < 0.0005
1,3-vranra~ < 0.0002 < 0.0002 < 0.0002 < 0.0002 < 0.0002
FUT LA < 0.0006 < 0.0006 < 0.0006 < 0.0006 < 0.0006
DA eV < 0.0003 < 0.0003 < 0.0003 < 0.0003 < 0.0003
FA RN T < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
AV % < 0.001 < 0.001 < 0.001 < 0.001 < 0.001
L < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
HEEMEE R R O Rt ZEF| < 0.02 2.5 0.05 3.0 0.23
TR 0.08 < 0.08 0.08 < 0.08 < 0.08
RNyES <0.1 < 0.1 <0.1 < 0.1 < 0.1
L4459 < 0.005 < 0.005 < 0.005 < 0.005 < 0.005
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MR A AR () T 26 55 8)

(BT :mg/L)

Ay a s 46 47 49 50 51
X HET A 4 MESTH FESKE | EEEKE | EEEKET PINETH
M XE = —R 209 386 386 386 207
HiX 4 A %H Ao H HNEa JII R BT
HX = 0020 0120 0130 0050 0100
HFAES 000100 000400 000200 000300 001200
F R (m) 10 IBH THq TBH TBA
EHPF - RHF EHF TBR T~H TBH Nz
R&X 5y —h%Ex A T Dt — % B A —f%ax A HETERAK
BOKEHH R4.7.14 R4. 7. 11 R4.7. 11 R4.7. 11 R4. 7. 11
FKIE(C) 15.0 16.3 29.0 15.7 16.0
BERURE R (mS/m) 13.4 16. 2 17.9 18.8 27.3
pH 6.7 6.4 6.4 7.1 6.9
FRIT A < 0.0003 < 0.0003 < 0.0003 < 0.0003 < 0.0003
LT < 0.1 < 0.1 <0.1 < 0.1 < 0.1
#h < 0.005 < 0.005 < 0.005 < 0.005 < 0.005
A A=A < 0.01 < 0.01 < 0.01 < 0.01 < 0.01
=== < 0.005 < 0.005 < 0.005 < 0.005 < 0.005
Fa7K #R < 0.0005 < 0.0005 < 0.0005 < 0.0005 < 0.0005
PCB < 0.0005 < 0.0005 < 0.0005 < 0.0005 < 0.0005
A== Y < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
MUk R SR < 0.0002 < 0.0002 < 0.0002 < 0.0002 < 0.0002
A=1=tasts S AV < 0.0002 < 0.0002 < 0.0002 < 0.0002 < 0.0002
1,2-Y/max iy < 0.0004 < 0.0004 < 0.0004 < 0.0004 < 0.0004
1,1-Y/unxFL < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
1,2-Y7unxFlL s < 0.004 < 0.004 < 0.004 < 0.004 < 0.004
1,1,1-F)7uu=xz < 0.0005 < 0.0005 < 0.0005 < 0.0005 < 0.0005
1,1,2-RN)7mmaxk < 0.0006 < 0.0006 < 0.0006 < 0.0006 < 0.0006
[ P/A=1=t=ts S PNZ < 0.001 < 0.001 < 0.001 < 0.001 < 0.001
VA NZA== = < 0.0005 < 0.0005 < 0.0005 < 0.0005 < 0.0005
1,3-vranra~ < 0.0002 < 0.0002 < 0.0002 < 0.0002 < 0.0002
FUT LA < 0.0006 < 0.0006 < 0.0006 < 0.0006 < 0.0006
DA eV < 0.0003 < 0.0003 < 0.0003 < 0.0003 < 0.0003
FA RN T < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
AV % < 0.001 < 0.001 < 0.001 < 0.001 < 0.001
‘L < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
HEE MR R OV et 2= R 0.67 2.2 0.82 1.2 1.4
TR < 0.08 < 0.08 0.09 < 0.08 < 0.08
RNyES <0.1 < 0.1 <0.1 < 0.1 < 0.1
L4459 < 0.005 < 0.005 < 0.005 < 0.005 < 0.005
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MR A A () T 26 539)

(BT :mg/L)

Ay a s 52 53 56 57 58
X HET A 4 FIVETH PFIVETH th e S ET SEHET SEHET
M XE = —R 207 207 407 384 384
Hi1 X A Bd=F 1) Yl ET AiL =5 L%
HX = 0300 0060 0240 0280 0110
HFAES 000100 000500 000100 000200 000500
F R (m) TBA TBA TBA TBH N:
EHPF - RHF TBA TBR T~H TBH Nz
R&X 5y ATERAK ATERAK HEERAK ZDfth HETERAK
BOKEHH R4.7. 11 R4. 7. 11 R4.7. 21 R4.7.13 R4.7.13
FKIE(C) 13.5 20.2 16.0 22.2 16.8
BERURE R (mS/m) 12.4 25.1 16. 2 22.3 29.7
pH 6.2 6.4 6.6 6.2 6.4
FRIT A < 0.0003 < 0.0003 < 0.0003 < 0.0003 < 0.0003
LT < 0.1 < 0.1 <0.1 < 0.1 < 0.1
#h < 0.005 < 0.005 < 0.005 < 0.005 < 0.005
A A=A < 0.01 < 0.01 < 0.01 < 0.01 < 0.01
=== < 0.005 < 0.005 < 0.005 < 0.005 < 0.005
Fa7K #R < 0.0005 < 0.0005 < 0.0005 < 0.0005 < 0.0005
PCB < 0.0005 < 0.0005 < 0.0005 < 0.0005 < 0.0005
A== Y < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
MUk R SR < 0.0002 < 0.0002 < 0.0002 < 0.0002 < 0.0002
A=1=tasts S AV < 0.0002 < 0.0002 < 0.0002 < 0.0002 < 0.0002
1,2-Y/max iy < 0.0004 < 0.0004 < 0.0004 < 0.0004 < 0.0004
1,1-Y/unxFL < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
1,2-Y7unxFlL s < 0.004 < 0.004 < 0.004 < 0.004 < 0.004
1,1,1-F)7uu=xz < 0.0005 < 0.0005 < 0.0005 < 0.0005 < 0.0005
1,1,2-RN)7mmaxk < 0.0006 < 0.0006 < 0.0006 < 0.0006 < 0.0006
[ P/A=1=t=ts S PNZ < 0.001 < 0.001 < 0.001 < 0.001 < 0.001
VA NZA== = < 0.0005 < 0.0005 < 0.0005 < 0.0005 < 0.0005
1,3-vranra~ < 0.0002 < 0.0002 < 0.0002 < 0.0002 < 0.0002
FUT LA < 0.0006 < 0.0006 < 0.0006 < 0.0006 < 0.0006
DA eV < 0.0003 < 0.0003 < 0.0003 < 0.0003 < 0.0003
FA RN T < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
AV % < 0.001 < 0.001 < 0.001 < 0.001 < 0.001
‘L < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
HEE MR R OV et 2= R 0.43 < 0.02 0.83 3.1 0.80
TR < 0.08 < 0.08 0.08 < 0.08 < 0.08
RNyES <0.1 < 0.1 <0.1 < 0.1 < 0.1
L4459 < 0.005 < 0.005 < 0.005 < 0.005 < 0.005
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R A AR () IR 326 53 10)

(BT :mg/L)

Ay a s 59 60 61 62 63
X HET A 4 S EHET SHEHET tEM tEh SEHET
M XE = —R 384 384 202 202 384
Hi1 X A J\i% VN O ET & EET AV N
HX = 1110 0350 0060 0070 0210
HFAES 000300 000100 000200 000200 000200
F R (m) TBA IBH 70 76 EN: |
EHPF - RHF TBA TBR RHF FHE Nz
R&X 5y —h%Ex A T Dt — % B A —f%ax A Z Dt
BOKEHH R4.7.13 R4.7.13 R4. 7.7 R4. 7.7 R4.7.13
FKIE(C) 17.0 23.0 22.0 18.0 20.0
BERURE R (mS/m) 9.38 15.9 15.7 28.7 32.0
pH 6.8 6.2 1.4 7.6 1.3
FRIT A < 0.0003 < 0.0003 < 0.0003 < 0.0003 < 0.0003
LT < 0.1 < 0.1 <0.1 < 0.1 < 0.1
#h < 0.005 < 0.005 < 0.005 < 0.005 < 0.005
A A=A < 0.01 < 0.01 < 0.01 < 0.01 < 0.01
=== < 0.005 < 0.005 < 0.005 < 0.005 < 0.005
Fa7K #R < 0.0005 < 0.0005 < 0.0005 < 0.0005 < 0.0005
PCB < 0.0005 < 0.0005 < 0.0005 < 0.0005 < 0.0005
A== Y < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
MUk R SR < 0.0002 < 0.0002 < 0.0002 < 0.0002 < 0.0002
A=1=tasts S AV < 0.0002 < 0.0002 < 0.0002 < 0.0002 < 0.0002
1,2-Y/max iy < 0.0004 < 0.0004 < 0.0004 < 0.0004 < 0.0004
1,1-Y/unxFL < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
1,2-Y7unxFlL s < 0.004 < 0.004 < 0.004 < 0.004 < 0.004
1,1,1-F)7uu=xz < 0.0005 < 0.0005 < 0.0005 < 0.0005 < 0.0005
1,1,2-RN)7mmaxk < 0.0006 < 0.0006 < 0.0006 < 0.0006 < 0.0006
[ P/A=1=t=ts S PNZ < 0.001 < 0.001 < 0.001 < 0.001 < 0.001
VA NZA== = < 0.0005 < 0.0005 < 0.0005 < 0.0005 < 0.0005
1,3-vranra~ < 0.0002 < 0.0002 < 0.0002 < 0.0002 < 0.0002
FUT LA < 0.0006 < 0.0006 < 0.0006 < 0.0006 < 0.0006
DA eV < 0.0003 < 0.0003 < 0.0003 < 0.0003 < 0.0003
FA RN T < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
AV % < 0.001 < 0.001 < 0.001 < 0.001 < 0.001
‘L < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
HEE MR R OV et 2= R 0.26 0.58 0.05 0. 11 0.05
TR < 0.08 < 0.08 < 0.08 < 0.08 0.10
RNyES <0.1 < 0.1 <0.1 < 0.1 < 0.1
L4459 < 0.005 < 0.005 < 0.005 < 0.005 < 0.005
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BRI A A Ca ) R 2 H 53 11)

(BT :mg/L)

Ay a s 64 65 67 84 85
X HET A 4 S EHET tEM tREm HhRES T R RE S ET
M XE = —R 384 202 202 407 407
Hi1 X A & H N hESETRA =8 EHED
HX = 0360 0080 0650 0120 0170
HFAES 000100 000300 000100 000200 000300
F R (m) TBA 40 TBA 15 N:
EHPF - RHF TBA TBR T~H TBH Nz
R&X 5y ZDih Z Dt HEERAK —f%ax A HETERAK
BOKEHH R4.7.13 R4.7.7 R4. 7.7 R4.7.21 R4. 7. 21
FKIE(C) 17.5 17.0 17.4 17.2 14.0
BERURE R (mS/m) 24.5 35.2 20.4 14.7 8.34
pH 7.0 8.5 6.6 6.4 6.5
FRIT A < 0.0003 < 0.0003 < 0.0003 < 0.0003 < 0.0003
LT < 0.1 < 0.1 <0.1 < 0.1 < 0.1
#h < 0.005 < 0.005 < 0.005 < 0.005 < 0.005
A A=A < 0.01 < 0.01 < 0.01 < 0.01 < 0.01
=== < 0.005 0.010 < 0.005 < 0.005 < 0.005
Fa7K #R < 0.0005 < 0.0005 < 0.0005 < 0.0005 < 0.0005
PCB < 0.0005 < 0.0005 < 0.0005 < 0.0005 < 0.0005
A== Y < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
MUk R SR < 0.0002 < 0.0002 < 0.0002 < 0.0002 < 0.0002
A=1=tasts S AV < 0.0002 < 0.0002 < 0.0002 < 0.0002 < 0.0002
1,2-Y/max iy < 0.0004 < 0.0004 < 0.0004 < 0.0004 < 0.0004
1,1-Y/unxFL < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
1,2-Y7unxFlL s < 0.004 < 0.004 < 0.004 < 0.004 < 0.004
1,1,1-F)7uu=xz < 0.0005 < 0.0005 < 0.0005 < 0.0005 < 0.0005
1,1,2-RN)7mmaxk < 0.0006 < 0.0006 < 0.0006 < 0.0006 < 0.0006
[ P/A=1=t=ts S PNZ < 0.001 < 0.001 < 0.001 < 0.001 < 0.001
VA NZA== = < 0.0005 < 0.0005 < 0.0005 < 0.0005 < 0.0005
1,3-vranra~ < 0.0002 < 0.0002 < 0.0002 < 0.0002 < 0.0002
FUT LA < 0.0006 < 0.0006 < 0.0006 < 0.0006 < 0.0006
DA eV < 0.0003 < 0.0003 < 0.0003 < 0.0003 < 0.0003
FA RN T < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
AV % < 0.001 < 0.001 < 0.001 < 0.001 < 0.001
‘L < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
HEE MR R OV et 2= R 2.9 < 0.02 1.2 1.0 0.68
TR < 0.08 0.08 < 0.08 < 0.08 < 0.08
RNyES <0.1 < 0.1 <0.1 < 0.1 < 0.1
L4459 < 0.005 < 0.005 < 0.005 < 0.005 < 0.005
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R A A O ) IR 2 h 53 12)

(BT :mg/L)

Ay a s 87 68 69 70 71
X HET A 4 SR 5™ W™ 777K ET 777K ET
XA A= —FR 384 204 204 461 461
X 4 il PIRITETF4X | PIRIETET FER% HhEE
HX = 1130 1020 1030 0050 0190
HFAES 000300 000100 000100 000200 000100
FH PG (m) 70 6 12 60 P ;)
EHPF - RHF THH EHF FHF TBH Nz
R&X 5y —h%Ex A —f%Ex A — % B A —f%Ex HETERAK
BOKEHH R4.7.13 R4.7.27 R4.7.217 R4.7.21 R4. 7. 21
FKIE(C) 16.5 20.5 17.5 15.7 16.0
BERURE R (mS/m) 29.7 22.9 23.8 18.7 20.8
pH 8.3 6.6 6.6 7.0 6.8
FIRIT A < 0.0003 < 0.0003 < 0.0003 < 0.0003 < 0.0003
LT < 0.1 < 0.1 <0.1 < 0.1 < 0.1
#h < 0.005 < 0.005 < 0.005 < 0.005 < 0.005
A A=A < 0.01 < 0.01 < 0.01 < 0.01 < 0.01
=== < 0.005 < 0.005 < 0.005 < 0.005 < 0.005
Tk ER < 0.0005 < 0.0005 < 0.0005 < 0.0005 < 0.0005
PCB < 0.0005 < 0.0005 < 0.0005 < 0.0005 < 0.0005
A== Y < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
MUk R SR < 0.0002 < 0.0002 < 0.0002 < 0.0002 < 0.0002
A=1=tasts S AV < 0.0002 < 0.0002 < 0.0002 < 0.0002 < 0.0002
1,2-Y/max iy < 0.0004 < 0.0004 < 0.0004 < 0.0004 < 0.0004
1,1-Y/unxFL < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
1,2-Y7unxFlL s < 0.004 < 0.004 < 0.004 < 0.004 < 0.004
1,1,1-F)7uu=xz < 0.0005 < 0.0005 < 0.0005 < 0.0005 < 0.0005
1,1,2-RN)7mmaxk < 0.0006 < 0.0006 < 0.0006 < 0.0006 < 0.0006
[ P/A=1=t=ts S PNZ < 0.001 < 0.001 < 0.001 < 0.001 < 0.001
VA NZA== = < 0.0005 < 0.0005 < 0.0005 < 0.0005 < 0.0005
1,3-vranra~ < 0.0002 < 0.0002 < 0.0002 < 0.0002 < 0.0002
FUT LA < 0.0006 < 0.0006 < 0.0006 < 0.0006 < 0.0006
DA eV < 0.0003 < 0.0003 < 0.0003 < 0.0003 < 0.0003
FA RN T < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
AV % < 0.001 < 0.001 < 0.001 < 0.001 < 0.001
L < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
HEE MR R OV et 2= R 0.06 0.4 2.5 0.54 2.3
TR 0.19 < 0.08 < 0.08 < 0.08 < 0.08
RNyES 0.1 < 0.1 <0.1 < 0.1 < 0.1
L4459 < 0.005 < 0.005 < 0.005 < 0.005 < 0.005
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R A A O ) IR 26 53 13)

(BT :mg/L)

Ay a s 73 75 76 77 78
X HET A 4 WE™ AEEEHET W™ WE™ REZHT
M XE = —R 204 463 204 204 463
X4 PIRTETHR AR BE ZERHET KEFHT N4
HX = 1150 0400 0050 0060 0240
HFAES 000300 000100 000100 000300 000800
F R (m) TBA TBA 8 3 N:
EHPF - RHF TBA TBR EHF EHFE Nz
R&X 5y ATERAK — R ER A —heER A —f%Ex — & B A
BOKEHH R4.7.27 R4.8.8 R4.7.217 R4.7.27 R4.8.8
FKIE(C) 20.0 21.5 19.2 19.5 18.5
BERURE R (mS/m) 22.5 8.78 20.4 15.8 15.4
pH 6.9 6.9 6.5 5.7 6.4
FRIT A < 0.0003 < 0.0003 < 0.0003 < 0.0003 < 0.0003
LT < 0.1 < 0.1 <0.1 < 0.1 < 0.1
#h < 0.005 < 0.005 < 0.005 < 0.005 < 0.005
A A=A < 0.01 < 0.01 < 0.01 < 0.01 < 0.01
=== < 0.005 < 0.005 < 0.005 < 0.005 < 0.005
Fa7K #R < 0.0005 < 0.0005 < 0.0005 < 0.0005 < 0.0005
PCB < 0.0005 < 0.0005 < 0.0005 < 0.0005 < 0.0005
A== Y < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
MUk R SR < 0.0002 < 0.0002 < 0.0002 < 0.0002 < 0.0002
A=1=tasts S AV < 0.0002 < 0.0002 < 0.0002 < 0.0002 < 0.0002
1,2-Y/max iy < 0.0004 < 0.0004 < 0.0004 < 0.0004 < 0.0004
1,1-Y/unxFL < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
1,2-Y7unxFlL s < 0.004 < 0.004 < 0.004 < 0.004 < 0.004
1,1,1-F)7uu=xz < 0.0005 < 0.0005 < 0.0005 < 0.0005 < 0.0005
1,1,2-RN)7mmaxk < 0.0006 < 0.0006 < 0.0006 < 0.0006 < 0.0006
[ P/A=1=t=ts S PNZ < 0.001 < 0.001 < 0.001 < 0.001 < 0.001
VA NZA== = < 0.0005 < 0.0005 < 0.0005 < 0.0005 < 0.0005
1,3-vranra~ < 0.0002 < 0.0002 < 0.0002 < 0.0002 < 0.0002
FUT LA < 0.0006 < 0.0006 < 0.0006 < 0.0006 < 0.0006
DA eV < 0.0003 < 0.0003 < 0.0003 < 0.0003 < 0.0003
FA RN T < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
AV % < 0.001 < 0.001 < 0.001 < 0.001 < 0.001
‘L < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
HEE MR R OV et 2= R 0.02 1.2 0.57 0.70 0.02
TR 0.08 < 0.08 < 0.08 < 0.08 0.08
RNyES <0.1 < 0.1 <0.1 < 0.1 < 0.1
L4459 < 0.005 < 0.005 < 0.005 < 0.005 < 0.005
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MR A2 O ) IR 32 h 55 14)

(BT :mg/L)

Ay a s 79 80 83
X HET A 4 WE™ R BiMm
M XE = —R 204 205 205
HiX 4 T EFHT L FHET 1ERTET
HX = 0020 0040 0050
HFAES 000300 002000 000400
F R (m) 4 5 B
EHPF -EHF EHPE TBH TEA
R&X Sy ATERAK Z Dt Z D
BOKEHH R4.7.27 R4.8.9 R4.8.9
FKIE(C) 23.5 26.0 19.5
BERURE R (mS/m) 21.6 13.6 1.1

pH 6.0 6.7 4.3
FIRIT A < 0.0003 < 0.0003 < 0.0003
LTV < 0.1 < 0.1 <0.1

&N < 0.005 < 0.005 < 0.005
A A=A < 0.01 < 0.01 < 0.01
=== < 0.005 < 0.005 < 0.005
Tk ER < 0.0005 < 0.0005 < 0.0005
PCB < 0.0005 < 0.0005 < 0.0005
A== Y < 0.002 < 0.002 < 0.002
MUk R SR < 0.0002 < 0.0002 < 0.0002
JunxTFL < 0.0002 < 0.0002 < 0.0002
1,2-Y/max iy < 0.0004 < 0.0004 < 0.0004
1,1-7aaxFL < 0.002 < 0.002 < 0.002
1,2-v7anxFL < 0.004 < 0.004 < 0.004
1,1,1-F)7uu=xz < 0.0005 < 0.0005 < 0.0005
1,1,2-RN)7mmaxk < 0.0006 < 0.0006 < 0.0006
[ P/A=1=t=ts S PNZ < 0.001 < 0.001 < 0.001
VA NZA== = < 0.0005 < 0.0005 < 0.0005
1,3-vr7aara~ < 0.0002 < 0.0002 < 0.0002
FUT LA < 0.0006 < 0.0006 < 0.0006
DA eV < 0.0003 < 0.0003 < 0.0003
F AR T < 0.002 < 0.002 < 0.002
AV % < 0.001 < 0.001 < 0.001
L < 0.002 < 0.002 < 0.002
HEE MR R OV et 2= R 2.4 1.4 0.16
TR < 0.08 < 0.08 < 0.08
ANyES <0.1 < 0.1 <0.1
L4459 < 0.005 < 0.005 < 0.005
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BEDLR A (IR T FHE 55 1)

(HAT : mg/L)

Ay a s K1 K2 K3 K4 K5
X HET A 4 ®RM &R &IR™ ®RM ®R™
M XE = —R 201 201 201 201 201
Hi1 X A LYDE £HRR R /N BT AR ARHT
HX = 0020 0060 0010 0070 0080
HFAES 008800 001800 003700 003600 001200
FHEF VR EE (m) 80 53 ~BH 131 150
& RHF TBA TBR T~H TBH Nz
R&X 5y ZDih Z Dt Z D1t Dt Z Dt
BOKEHH R4.9.1 R4.9.1 R4.9.1 R4.9.1 R4.9.1
FKIE(C) 26.0 16.5 16.4 14.0 15.2
BRURE R (mS/m) 9 30 14 27 24

pH 1.4 7.1 9.0 7.0 7.0
FRIT A < 0.0003 < 0.0003 < 0.0003 < 0.0003 < 0.0003
LT < 0.1 < 0.1 <0.1 < 0.1 < 0.1
#h < 0.005 < 0.005 < 0.005 < 0.005 < 0.005
A A=A < 0.01 < 0.01 < 0.01 < 0.01 < 0.01
=== < 0.005 < 0.005 < 0.005 0. 009 0. 007
Fa7K #R < 0.0005 < 0.0005 < 0.0005 < 0.0005 < 0.0005
PCB < 0.0005 < 0.0005 < 0.0005 < 0.0005 < 0.0005
A== Y < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
MUk R SR < 0.0002 < 0.0002 < 0.0002 < 0.0002 < 0.0002
A=1=tasts S AV < 0.0002 < 0.0002 < 0.0002 < 0.0002 < 0.0002
1,2-Y/max iy < 0.0004 < 0.0004 < 0.0004 < 0.0004 < 0.0004
1,1-Y/anxzFlL < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
1,2-Y7unxFlL s < 0.004 < 0.004 < 0.004 < 0.004 < 0.004
1,1,1-F)7uu=xz < 0.0005 < 0.0005 < 0.0005 < 0.0005 < 0.0005
1,1,2-RN)7mmaxk < 0.0006 < 0.0006 < 0.0006 < 0.0006 < 0.0006
[ P/A=1=t=ts S PNZ < 0.001 < 0.001 < 0.001 < 0.001 < 0.001
VA NZA== = < 0.0005 < 0.0005 < 0.0005 < 0.0005 < 0.0005
1,3-vranra~ < 0.0002 < 0.0002 < 0.0002 < 0.0002 < 0.0002
FUT LA < 0.0006 < 0.0006 < 0.0006 < 0.0006 < 0.0006
DA eV < 0.0003 < 0.0003 < 0.0003 < 0.0003 < 0.0003
FA RN T < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
AV % < 0.001 < 0.001 < 0.001 < 0.001 < 0.001
‘L < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
HEE MR R OV et 2= R 0.37 1.6 0.94 < 0.02 0.05
TR < 0.08 < 0.08 < 0.08 0. 11 0.13
RNyES <0.1 < 0.1 <0.1 < 0.1 < 0.1
L4459 < 0.005 < 0.005 < 0.005 < 0.005 < 0.005
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LD A (IR T F i 552)

(AT : mg/L)

Ay a s 36 37
X HET A 4 ®RM &R
M XE = —R 201 201
Hi1 X A SRASHT -3
HX = 0040 0060
HFAES 005300 001900
F R (m) 80 TEH
&P T~H B
R&X Sy Z Dt Z Dt
BOKEHH R4.9.1 R4.9.1
FKIE(C) 16.3 19.5
BREE R (mS/m) 14 23

pH 6.2 1.3
FIRIT A < 0.0003 < 0.0003
LTV < 0.1 < 0.1

#h < 0.005 < 0.005
A A=A < 0.01 < 0.01
=== < 0.005 < 0.005
Tk ER < 0.0005 < 0. 0005
PCB < 0.0005 < 0.0005
A== Y < 0.002 < 0.002
MUk R SR < 0.0002 < 0.0002
JunxTFL < 0.0002 < 0.0002
1,2-v/aaxH < 0.0004 < 0.0004
1,1-7aaxFL < 0.002 < 0.002
1,2-v7anxFL < 0.004 < 0.004
1,1,1-F)7uu=xz < 0.0005 < 0.0005
1,1,2-N)7mmx4 < 0.0006 < 0.0006
[ P/A=1=t=ts S PNZ < 0.001 < 0.001
VA NZA== = < 0.0005 < 0.0005
1,3-vranra~ < 0.0002 < 0.0002
FUT LA < 0.0006 < 0.0006
DA eV < 0.0003 < 0.0003
F AR T < 0.002 < 0.002
AV % < 0.001 < 0.001
L < 0.002 < 0.002
EE R R R OV H A e 22 3R 2.4 < 0.02
TR < 0.08 0.15
ANYES <0.1 < 0.1
L4459 < 0.005 < 0.005

- 186 -




